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1) KiE:£BET15. 5~16. 3C, KT12. 5~15. 3COHFPHIZH-T=,

2) ¥y F#ET32. 1~32. 8, KET33. 0~33. 60&MHICH-T=,

3) pH: 8. 0~8. 30#HMICHY, RATAKEMKERE (7. 8~8. 4) %L T\,
4) COD: 0. 2~0. 5mg/L O#FHIZH VY, KIEMKERE (PASMENE @ 2mg/L LLIT) %
L TWi,

5) DO: 6. 7~8. 8mg/L OHEFHIZH VY, R THREMHKIERE (6. Omg/L LLE) iz LT
Ay

6) R - REBIILL T ORFANIICH - 72,

U UEEREY v (PO4-P) : 0. 1A%~25. 3ug/L
TrE=THEZEH (NH4AN) ;0. 1RM~51. 1uglL
ﬁmw gz (NO2-N) : 0. 1A%~14. 7pg/L
HERE%=# (NO3-N) : 0. 1AKW~79. 8ug/L

7)77/7h/w@g:9.7~49.5mMﬂ@%ﬁK@oko
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